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Topic: Coordinate geometry 

Section 1 
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ENGAA S1 2020 - Question 26

ENGAA S1 2020 - Question 26 - Worked Solution 

1𝑚
 

Answer is C 

 𝑥=)𝑥(−1𝑓  = 𝑚 × 𝑥)𝑥(𝑓   𝑙𝑖𝑛𝑒 𝑦 = 𝑥𝑖𝑛 𝑟𝑒𝑓𝑙𝑒𝑐𝑡𝑒𝑑 𝑖𝑠 𝑎 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑜𝑓𝐴𝑛𝑦 𝑖𝑛𝑣𝑒𝑟𝑠𝑒  
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ENGAA S1 2020 - Question 30

ENGAA S1 2020 - Question 30 - Worked Solution
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 𝑚 = 2 . 
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 = 52𝑚 +  ′𝑥 + 𝐶𝑦 = −  + 𝐶𝑚𝑥𝑦 =  − 𝐶 = 5′𝐶  × 2 = 5)− 𝐶′𝐶( 
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12
  

Answer is D 

 𝑚 =
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ENGAA S1 2019 - Question 21

ENGAA S1 2019 - Question 21 - Worked Solution 𝑥2
𝑥212

  

Answer is C 

 21=12= 9 +2+ 𝐴1𝐴  × 6 × 3 = 9=1𝐴  + 2 𝑣𝑖𝑎 𝑒𝑞𝑢𝑞𝑡𝑖𝑜𝑛:  𝑦 = −)−6 , 5(=1𝑃  )0 , 2(=3𝑃  )−6 , 2(=2𝑃  12= 6 × 2 =2𝐴  + 2𝑦 = − 
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ENGAA Specimen S1 - Question 19

ENGAA Specimen S1 - Question 19 - Worked Solution 

 
 

 

 

 

   

 

Originally, the square looks like this: 

After the rotation of 90 degrees clockwise: 

After a reflection in the line 𝑦 = 𝑥: 
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Answer is B 

A reflection of this in the y-axis will return this square to the original position. 
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ENGAA S1 2018 - Question 5

ENGAA S1 2018 - Question 5 - Worked Solution 

∆𝑦∆𝑥 2𝑝 − (𝑝 − 1)(1 − 𝑝) − 𝑝𝑝 + 1−2𝑝 + 1
23 1323 𝑝 + 1−2𝑝 + 1

  

Answer is H. 

 𝑝 = 5  3𝑝 + 3 = −2 + 4𝑝  =𝑚 = −  𝑥 −𝑦 = −  2𝑥 + 3𝑦 + 1 = 0  Gradient ②

      =  =𝑚 =  Gradient ①
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ENGAA S1 2018 - Question 11

ENGAA S1 2018 - Question 11 - Worked Solution 
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Sketch lines: 

 𝑥 = 6  66𝑥 =11  20=465𝑥 + 6𝑥 −  20=)233𝑥 −(5𝑥 + 2  Finding  intersection : ② →①

 10𝑥 +①: 𝑦 = −  𝑥 = 0③ 
 23𝑦 = 3𝑥 −② 
 205𝑥 + 2𝑦 =① 

 

 

   

 

http://www.oxbridgemind.co.uk/


12
  

Answer is C. 

 99=33× 6 ×𝑥 = 
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ENGAA S1 2018 - Question 43

ENGAA S1 2018 - Question 43 - Worked Solution −3,2
375 + 580

  

Answer is C. 

    = 3√5  − √5   = 4√5  − √5√𝑆 =  = √)𝑆 + √5(  2+ 𝑟2)√5(=2)𝑆 + 𝑟( Pythagoras: 

 𝑅𝑎𝑑𝑖𝑢𝑠 ⊥ 𝑡𝑎𝑛𝑔𝑒𝑛𝑡 𝑅𝑎𝑑𝑖𝑢𝑠 ∶  √5  )(𝐶𝑒𝑛𝑡𝑟𝑒 ∶ 
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ENGAA S1 2018 - Question 45

ENGAA S1 2018 - Question 45 - Worked Solution 

2      = 17(−1 + 3)2 + (𝑢 − 2)2 4 + (𝑢 − 2)217

  

Answer is D. 

  − 6𝑜𝑟  10𝑢 =  𝑢 − 2 = ±8  64=2)𝑢 − 2(  17= 4 ×2)𝑢 − 2(4 +  √       = 2  √=√=𝐴𝐶  √  2)3 − 2(+))−3(1 −(√=𝐴𝐵 
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ENGAA S1 2017 - Question 53

ENGAA S1 2017 - Question 53 - Worked Solution 

3 ± 9 − 8434 17416 17434 174 1734
  

Answer is B.  

 

 75= 1.  + 1≈  ≈ 4〉√             〈√+𝑝 =  𝑖𝑠 𝑝 𝑎𝑡 𝑡ℎ𝑒 𝑔𝑟𝑒𝑎𝑡𝑒𝑠𝑡 𝑣𝑎𝑙𝑢𝑒 𝑠𝑜> 1,√= 4 ⇒√  
√±=  
√𝑝 =Solving quadratic: 

 = 0 )− 3𝑝 − 122𝑝(𝑝 = 1   ,    = 0)− 3𝑝 − 122𝑝)(𝑝 − 1(Now need to solve: 

 = 0)− 3𝑝 − 122𝑝)(𝑝 − 1(+ 2𝑝 + 1 =2− 5𝑝32𝑝  Use this to factorize ①
  𝑎 𝑓𝑎𝑐𝑡𝑜𝑟𝑖𝑠)𝑝 − 1( 𝑎 𝑟𝑜𝑜𝑡 ,𝑖𝑠= 2 − 5 + 2 + 1 = 0 ⇒ 𝑝 = 1 𝐿𝐻𝑆Try p =1 

 + 2𝑝 + 1 = 0  − − − − − ①2− 5𝑝3⇒ 2𝑝Product of gradients is -1 

 = −1)𝑝 − 2)(− 𝑝22𝑝(𝑝𝑒𝑟𝑝𝑒𝑛𝑑𝑖𝑐𝑢𝑙𝑎𝑟 ⇒ 
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ENGAA S1 2016 - Question 41

ENGAA S1 2016 - Question 41 - Worked Solution 

3𝑚 3𝑚2𝑝 2𝑝
 = 5𝐿𝑀  , 0) =>   𝑀 => (−+ 2 => 𝑥 = −𝑝𝑥0 =  , 0)=> 𝐿 ≫ (−+ 3 =>   𝑥 = −𝑚𝑥0 =To find the x intercepts, set y to 0. 

 = −1  − − − −①𝑚𝑝  1.Since the lines are perpendicular , the product of their gradients is -
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2𝑝 3𝑚3𝑝 − 2𝑚𝑚𝑝2𝑝
2332 23 3256

  

Answer is D 

 𝑚 + 𝑝 =     , 𝑚 =∴ 𝑝 = −     , 𝑚 = 1  𝑏𝑢𝑡 𝑚 ≠ 1=>   𝑚 =    , 𝑝 = −1𝑝 = −  = 0)𝑝 + 1)(3𝑝 + 2(  + 5𝑝 = 2 = 023𝑝  = −53𝑝 +  3𝑝 − 2𝑚 = −5 = 5 = 5+−
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ENGAA S1 2016 - Question 49

ENGAA S1 2016 - Question 49 - Worked Solution 

𝑑𝑠𝑑𝑥 𝑑𝑠𝑑𝑥

𝑑 𝑠𝑑2𝑥
 

Answer is B 

 = 525+36−12𝑠 = 4 +  25+)−1(36+2)−1(12+3)−1(𝑠 = −4  > 048=24𝑥 +24= −2Verify x = -1 is in fact a minimum by evaluating the second derivative 

  𝑛𝑒𝑔𝑎𝑡𝑖𝑣𝑒 𝑥𝑖𝑛 𝑡ℎ𝑒 𝑐𝑢𝑟𝑠𝑜𝑟 𝑚𝑜𝑣𝑒𝑠 𝑎𝑠 𝑡ℎ𝑒 𝑠𝑜𝑙𝑢𝑡𝑖𝑜𝑛 𝑏𝑒𝑡 ′𝑥 = 3 𝑐𝑎𝑛  𝑥 = 3  ,   𝑥 = −1  = 0)𝑥 + 1)(𝑥 − 3(  = 0)− 2𝑥 − 32𝑥(12−  = 036𝑥 +24+2𝑥12−   0𝑡𝑜  , 𝑠𝑒𝑡 𝑚𝑖𝑛 𝑓𝑖𝑛𝑑 𝑠𝑡𝑜  36𝑥 +24+2𝑥12= −  25𝑥 +36=2𝑥12+3𝑠 = −4𝑥  )15𝑥 −36−2𝑥12−34𝑥(−10𝑠 =The distance parallel to the y axis from the curve to the cursor 

 𝑥 ≤ 0The cursor is at the point , ( x , 10 ) when 
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